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30.8.5
107b (2 wn) =2 109a (70 85 113)

I 2 mwn: permissible to wrap meat and cheese in one cloth, provided they aren’t touching (»ax - even though they are cold
and wouldn’t require peeling away the layer that touched, they’d still need to be washed off)
a  27awT 2 guests (at an inn) may eat at one table, this one eating meat and the other eating cheese without concern
i Snpw: this is only true if they don’t know each other;
ii  Support: Rn13, citing 3”2, limits permission to “passing strangers”, but not if they are joined (nnx no’ana)
iii Question: what if there are 2 brothers who don’t allow sharing (w/each other)?
1 Answer: we can’t make exceptions for extraordinary circumstances (11m”1 ©IN’2 ’PI01 PNOR PPMION Y 1INRY)
2 Challenge: 130y 1 permitted someone with only one garment to wash it on n”mn
(a) Answer: in that case, the belt (on the garment being washed) proves that he only has one
II 13 mwn: if a drop of milk fell onto a piece of (cooking) meat, if it flavors that piece — Mor
a  If: he stirred the pot - if it flavors the entire pot — MoK
b Observation (»ax): the status of oyv (without substance) as redefining the flavored food must be n"nn
i Argument: if it were 0”10, why wouldn’t we infer it being n”nn from n”aa
1  And:if you were to argue that n”11 can’t be a model as it is a wy'n
2 Then: why wouldn’t we prohibit n"aa even without flavoring?
ii ~ Block (x27): the nmin only prohibited (by using >wan &%) foods which are mixed via cooking (i.e. taste)
¢ 37 when the first piece is flavored, 110 applies and then all the others are banned as they are wwna pn
i challenge: 21 is adopting N> '7’s position (02 ®Y n”an) — but why not apply &17’s caveat of n”an and InR 1717
ii  defense: indeed, if the gravy were soft (liquid), we would employ it; 21 is referring to a case where it is thick (=1n)
1 however: he must maintain that in such a case, when the 1ox is exuded, it remains 7708 (1OR VMDY TVaR)
(a) per: dispute 1311 "9 RPN N 27 vs. 5™ RPN N HRINY — whether 710R Yomp? 9waR (1t group) or Imn
(b) challenge: 17 apparently holds 9mn yomo? 9war, per his ruling: if a piece of meat fell into a pot of meat, the
meat is MoR and the milk — permitted; but if 1708 ©"9aR, the milk should be 11N
2 answer: v. 1 only indicates a prohibition on the meat, not the milk
3 challenge: 21 rules that if %2 nord milk is cooked with %2 meat, there are man for eating the mix (but not for 51v2)
(a) rather: 21 certainly holds that both are ooy, but in this case, it fell into a boiling pot — only ¥913, not vV
(b) Challenge: when it stops boiling, it should be (7wa nyv) V919 and prohibit the milk
(i) Answer: circumstance where he removed it before it stopped boiling
iii  Revisiting Y2 1712 of each ruling: why no man for cooking (if the 2 half-non’r are 970xn)?
1 Answerl: they are not 910xn, but the food came from a larger pot = np for eating it
2 Dissent (71): there are also man for cooking together (full y17x)
(a) Support: "5 reads the mwn that way — there are man for cooking, as long as it is cooked as people eat it
d wmos qwon redux: is a RIN NMYNN:
i If: some milk fell onto one piece (of meat)
1 A7 77 once it flavors that piece, it becomes 111 and the rest, as N1, are all prohibited
2 ppom: the milk must flavor all the pieces, the gravy and dregs to prohibit
(a) 227 rules per nmn "1 if he didn’t cover or stir the pot; and per onan if he did either
(i) Clarification: no3 X9 " RY doesn’t mean that he didn’t do it at all; taste wouldn't flavor rest
1. Rather: means that he didn’t cover/stir at beginning, but after 1 piece was flavored
2. Challenge: in that case, the taste was absorbed but also exuded
a.  Must be: that he holds 17ox Yomp5 Twar
3. Implication: M "1 holds that even if he covered/stirred the whole time, still Mor
a. However: in that case, the one piece absorbed no more than the rest
b.  Rather: noa 89 91 R means he didn’t do it very effectively (na» na» 97 &Y)
(if) Clarification: »a7 accepts mnan’s position when he stirred/covered — must mean “the whole time”
1. Argument: if it only meant stirred/covered at end, »a1 ruled like "> "7 in that case
2. Therefore: 1327 must hold that if he only stirred/covered at end amn
a.  Must be: that they hold 1mn yomo) qwar
ii  Counter (’n9>70 8nK *9): perhaps they agree that mioR MY TWaR, and their dispute is whether n”an is va
1 Block (82237): if so, 17 would have said v »a7 PR3 when he didn’t stir (well) and "1 127 PR3 PR when he did
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